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Cluster: 0095 ptr; resid: 0.39; r/c: 33/67

x.range

upstream meme PSSM #1; e=0.00055

1 3 5 7 91 3 5 7 9

x.range

y.
ra
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e

upstream meme PSSM #2; e=2.8e+03

1 6 11 16 211 6 11 16 211 6 11 16 211 6 11 16 211
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16076

16334

11230

12927

14599

14867

1598

19030

2217

31128−31427_ferredoxin

33412

33463

37144

37545

38963

41409

44383

44612

44751

45205

45926

4604

46218

46990

47959

47985
48260

48861
48869

49743

54420
54920

72334−72585_50S

string −500 −400 −300 −200 −100 −1
31128−31427_ferredoxinNA

72334−72585_50SNA
45205−0.10

2217−0.14
19030−0.21
33412−0.32
48869−0.54
12927−0.79
45926−0.87
47985−0.96
44751−1.22
48861−1.34
11230−1.49

4604−1.66
1598−1.74

46990−2.03
46218−2.40
14867−2.41
37545−2.58
33463−2.71
48260−2.80
49743−3.20
16076−3.33
54420−3.41
16334−3.46
47959−3.72
37144−3.80
38963−3.82
44612−4.60
41409−4.62
54920−4.68
14599−5.01
44383−5.77

log10(P) upstream meme1 2 log10(P.clust)=−2.44; 33 seqs; 32 uniq
c(0.5, 2.5)
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